IND—B3 9N

CD.No0.009423

LA

@;2 PENGUIN WAX CO.,LTD.

20224



VON AR

NI—5

XA T3y




ND—R 9N KK

B5 CD. No. EILLES B/ HE
1 6004199 2 2 ASSY 3565D-Tank 1 9,200
2 6004201 E—4H2—<TOUk X349-BUAOOT 1 2,080
3 6004202 ARy F—TL—Fh X349-BUA00O2 1 400
4 6004203 4 oF—hn— X349-BUA0O3 1 2,720
) 6004204 NyT)—0avy X349-BUA0O4 1 450
6 6004205 by THhN— X349-BUA0OS 1 2, 860
1 6004206 TAIE—hN— X349-BUA00O6 1 1,320
8 6004219 [AnN—nyx> X349-BUAOO7 1 480
9 6004220 EXZ714L53— X349-BUAOO8 1 280
10 6004227 E 2 NASTE D X349-BUA009 1 1,080
11 6004221 A1F—2zx)Lk X349-BUAO10 1 350
12 6004222 A4 FAHAFR X349-BUAOTT 1 450
13 6004207 AAYFRSAH— X349-BUAO13 1 390
14 6003899 VINWAR—=RART Y b X328-BUA00O8 1 490
15 6003897 STV bYTARYT Y X328-BUA004 1 170
16 6003948 LEDZ L— k X350-BUA0O4 1 420
17 6004197 EREh [ p% 240C9/12 1 , 840
18 6003620 EZEFR) 237228RED 1 3, 140
19 6003893 ZvF(2P) 1 850
20 6003323 N R AP-829-2 1 640
21 6004223 EEIaAY b C-30-SG-20A-EP-UL 1 100
22 6003907 AE—=FFv bk CSN-3 4 110
23 6003760 J oY —bFRRY M3 x 12 6 110
24 6002858 J oY —rFRRD M3 x 8 5 50
25 6003176 J oY —bFRRY M5 x 16 8 50
26 6003147 J oY —rFRRD M2.6 x 8 2 110
21 6003151 J oY —bFRRY M2.6 x 6 2 50
28 6004225 AR—H— 2.6-3-4L 2 100
29 6004224 Jgaiy bk C-30-KG-74-1-EP-UL 2 100
30 6004233 Foh—<o2k MSTM3 2 100
31 6000771 Ty oy M3 2 50
32 6004226 RARTYT WY10-25 2 380
33 6004245 RYRSAH— M6-t 0.5 1 100
34 6001769 NAT Tty k@GP M6 x 16 2 50
35 6003310 2509 Fy b M6 2 50
36 6003906 E—F—T4I)ILE— X328-BUAO18 1 130
317 6000828 Ay2Fvk M6 1 110
38 6000660 FrvIHRILE M6 x 15 1 110




RI—B VYN KK

BE CD. No. K B/ & L]
39 6004228 R"—=LTSY CP-30-HP4-Black 100
40 6003490 AYARAYF JW-LW21RKK 1,700
x4 6003953 HEPAD 4 JL 7 — 4,030
42 7000139 IOYRZ—TAhIL 50
43 1000348 PT4THIL 110
44 7000349 2&5THL 110
45 7000351 NyTY—avy o ThIL 110
46 7000358 AAYFTAIL 110
47 7000359 EWT NI 110
48 6004267 LEDF 2 —7 X349-BUAO15 100

% @HEPAZ 4 LA —(FA+ T3> TT,




NI—=BVDN

EA-N—RA



NID—HRUHN JAF7I7raz=vy b

BE CD. No. K B/ & (EE: i
1 6003684 DCTBT7E—H2— YJ02584 V1J-PE 28V 1 10, 600
2 6003885 E—4—h/N\—(E X328-BUMOOT 1 1,400
3 6003886 E—42—H/1—() X328-BUM002 1 930
4 6003913 )G HRry b X328-BUA00O6 1 1,760
) 6003914 E—2—HR7v I X328-BUAOO7 1 1,190
6 6004218 YIWNTaINE— X349-BUAO12 4 100
1 6003916 E—2—RFRARD X328-BUAO19 1 140
8 6003917 E—F—hN—RKIP X328-BUA020 1 110




NI—=5VDN
in—2A= ) XIUED




INIT—B Y9N FHw—X -/ X)LEH

BE CD. No. K B/ & (EE: 7E fifl
1 6H00069 avE/ X)L 32-W260 1 4,000
2 6003880 e > K 633-900199900ASM-2 1 5,090
3 6004200 R—2R X349-BUAO15 1 5,400
4 6003254 A¥xT/ X)L 422-900100100 1 640
) 6003252 RIS 306-902000100 1 1,100
6 9000147 R—=I—=n\v T (108AY) 1 2,830

! 9000152 7 v 7 ASSY 1 530

XDTvIANSNEFA T 30T,




AWEL VI
AR R X

KIV 2R% E

KIV 225 &

e

KIV 22 ]
KIV 0.752% & TR

UL1007 AWG24 #%
UL1007 AWG24 2

b KIV 0.7524 2

=

K25
(6003620)

KIV 227 &

B &[] %
(6004197)

UL1007 AWG24 & y

A

"B

™

/@) KIV 225 B

UL1007 AWG24 &

KIV 2245 7&

KIV 227 &

o
ES
N KIV 22F Fr
1b &
- 2 L Y
o ﬁ £ ~
S‘MEE '. DCTO7I7Y
Ovh2AvF (6003684)

(6003490)

1= -2 RBIEERER 53




NI—Z V9N EiREH

B5 CD. No. EILLES B/ HE
1 5H00025 3149 2 —ASSY-HC X354-HACOO01 1 2,650
%2 6004208 Ea—X/\—FX(150) X349-HANOOT 1 490
3 6004209 SWA—x%R X349-HANOO2 2 200
4 6004210 MO (+) /Nn—H R X349-HANOO3 1 230
) 6004211 MO () /N—H R X349-HANOO4 1 220
6 6004212 DRV/\— 2 X (RD) X349-HANOOS 1 110
1 6004213 DRV/\— X (BK) X349-HANOO6 1 110
8 6004214 BEF/N—HR X349-HANOO7 1 180
9 6004215 PEBERAYFN—FRX X349-HANOO8 1 , 360
10 6004216 thik/\—2 X X349-HANOO9 1 290
11 6004217 TVS/IN—H% R X349-HANO10 1 160
12 6003833 2 RyFaxry 2 Q) WFR-3 4 170
13 6H00022 HSRAEE2—X(15A) 125V-15A 1 110

HKQOIEAHSREE2—XFE, BDIFASREEL—XDH




